Metric Measures

1. Use the different metric measurements to complete the sentences below.
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A. The picture frame was in length.

B. Hugo cycled

C. Madison bought a bottle of water on the school trip.
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2. Sort the statements into the correct columns.

A. A ruler B. A horse
that is 30cm that weighs C. 2km
600kg
Mass Distance Length
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3. Jasper is measuring the height and length of a wall.

He says,
The height of the wall is 2m tall;
the length of it is more than
double the height. | will be able to
> & measure the length in mm, cm or
m with a ruler.
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Is Jasper correct? Explain why.
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Metric Measures

4. Use the different metric measurements to complete the sentences below.
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A. Jordan ran a sprint.
B. Kimberly measured her pencil; it was long.
C. Kenny lives away from the school.
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5. Sort the statements into the correct columns.

A. A ruler B. A car that 1 D. A can of E. A ball
that is 30cm. has travelled C.o of 2km pop that is rolling down

9.250m half-empty a hill

Volume Distance Length
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6. Yuna is recording the distance she ran during a race.

She says,

~

’ ‘ The total distance of the track is
equal to half of 580m; | ran around

= = the track 6 times. | can measure
1\'@' my total distance in m, km or kg.

J

Is Yuna correct? Explain why.
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Metric Measures

7. Use the different metric measurements to complete the sentences below.
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A. Barney drank of water.

B. The area of the wall was

C. Ted’s swimming pool holds of water.
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8. Sort the statements into the correct columns.
2 7 D. A pond E. A milk
A. 0.09mm B.7 — m3 C.— of 3km being filled bottle that is
5 8 .
with water half-empty

Volume Distance Length
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9. Willow is using a beaker to measure the amount of water for a science experiment.

She says,
The capacity of this beaker is ~— 200 m|
180ml; | will be using 3 beakers 20
= = with the same amount of water in
i AU ) each one. | will use more than
- 540ml of water in total. )
A_A
Is Willow correct? Explain why.
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Homework/Extension
Metric Measures

Developing
1. A. 100mm; B. 600m; C. 2L

2. Mass - B; Distance - C; Length - A

3. Various answers, for example: Jasper is incorrect. The length of the wall will be more
than 4m because it is double the height. Although it is possible to measure the length of
the wall in mm and cm, it would take too long; measuring the wall in metres with a metre
stick or a tape measure would be the most sensible choice.

Expected
4. A. 500m: B. 8.5cm: C. 2% km

5. Volume - D; Distance - B, C and E; Length - A

6. Various answers, for example: Yuna is incorrect. The track is equal to 290m so she will
be able to measure in m or km (which are both units to measure distance), but not kg as
they are used to measure mass, not distance. If she ran around the track é times, the
total distance would be 1,740m or 1.74km.

Greater Depth
7. A.0.95L; B. 15.5m?2; C. 66m3

8. Volume - B, D and E; Distance - C; Length - A

9. Various answers, for example:

Willow is incorrect. She has confused the capacity of the beaker with the volume of it; the
capacity of the beaker is 200ml, whereas the volume of the beaker is 180ml. In addition,
if she used 3 beakers with the same amount of water in each, she will use exactly 540mi
of water, not more than 540ml.
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